NEW JERSEY RACING COMMISSION

2015 ANNUAL REPORT

Members of the New Jersey Racing Commission

Anthony T. Abbatiello

Appointed 2006

Anthony T. Abbatiello's love for horses has resulted in nearly 60 years dedicated to the horse racing industry. For 28 years, Mr. Abbatiello served the Standardbred Breeders and Owners Association of New Jersey, both as a Co-Founder and as President. Mr. Abbatiello's previous titles included, Chairman of the Board for the United States Trotting Association, Director of the Standardbred Owners' Association of New York, Chairman of the New Jersey Sire Stakes Board of Directors, Trustee Chairman of the Board of American Horse Council in Washington D.C. and Trustee of the Trotting Horse Museum in Goshen, New York.

On July 2, 1995, Mr. Abbatiello was inducted into the Living Hall of Fame in Goshen, New York with his brother Carmine, a 1985 inductee. His induction resulted in the first brother tandem in the Hall of Fame. A decorated war veteran, Mr. Abbatiello served in the Korean War rising to the rank of Captain. Mr. Abbatiello demonstrated courage under fire, receiving numerous commendations including the Combat Infantry Badge, Silver Star, The Bronze Star with Valor, two Purple Hearts, the Presidential Unit Citation, Korean Campaign Ribbon with four Battle Stars and the Korean Service Medal.

Manny Aponte

Appointed 2011

Manny Aponte is First Vice President Investments of Aponte Waters Financial Consulting Group of Wells Fargo Advisors, LLC since 2006. From 1999 to 2006 he was a Financial Advisor with Morgan Stanley. A graduate of Richard Stockton College, "Manny" has been active in community organizations as a Board member of American Conference on Diversity and the Hispanic Alliance of Atlantic County. He is also a member of Egg Harbor Township Planning Board since 2009.

Dr. Michael Arnone

Commissioner since June 19, 2013

Dr. Arnone graduated from Seton Hall University and received his D.D.S. from Temple University School of Dentistry and has a dental practice in Red Bank. He was a member of the NJ General Assembly from 1989 to 2004 and was a mayor of Red Bank from 1978 to 1990. He also served on several other local government agencies and committees including being a Red Bank Fire and Police Commissioner.

He served in the U.S. Army attaining the rank of Captain from 1959 to 1961.

Dr. Arnone resides in Red Bank.

Pamela Clyne, LCSW, SAC

Appointed 2012

Pamela Clyne is a resident of New Egypt in Ocean County where she resides with her husband, retired Ocean County Superior Court Judge, James D. Clyne. They own a 25 acre horse farm and are lifelong horse enthusiasts. She has a Master's in Social Work from Rutgers University and is certified in many behavioral healthcare disciplines.

Ms. Clyne is the Executive Director of Reindancer Therapeutic Riding Center since 2006 where she works with a wide group of individuals with special needs. Among other things, she is involved in therapeutic horseback riding and equine assisted psychotherapy with this 501(c)3 organization.

Peter J. Cofrancesco III

Commissioner 2001 - December 2008; April 21, 2010 to present

Mr. Cofrancesco serves as Executive Officer of the Grinnell Group of Companies. Grinnell is family owned and operated with interests in manufacturing of construction materials, transportation services as well as commercial and residential real estate development. The company was named the 2003 New Jersey Family Business of the Year, an award that recognizes the significant contributions to the economy and community made by New Jersey family businesses. Mr. Cofrancesco attended Delaware Valley College, concentrating in Business Management and also received an Honorary Doctorate in Humane Letters from Centenary College in 2003. Mr. Cofrancesco is extremely active in many community and professional organizations including directorship of college and hospital foundations, the NJ State Fair and the Interlocking Concrete Pavement Institute. Mr. Cofrancesco is a leading owner and breeder of American Quarter Horses and currently serves as a Director of the American Quarter Horse Association. Mr. Cofrancesco and his family have owned an unprecedented 24 AQHA World Champions, and have received the prestigious Leading Owner Award five times. Mr. Cofrancesco continued to serve on the Commission on hold over status until December 2008 but was reappointed on April 21, 2010.

Anthony De Paola

Commissioner since July 26, 2013

Mr. De Paola was employed by the US Postal Service. He also was a supervisor of mutuel clerks at Meadowlands Racetrack and Athletic Director at several high schools. He is a graduate of East Orange High School and has an honorable discharge from the U.S. Army.

He is active in many government agencies in Berkeley Township and Ocean County. Specifically, he is Commissioner of Ocean County Board of Health and Missing and Exploited Children Committee. In Berkeley Township he is on the Board of Education and is Chairman of the Zoning Board and Sewerage Authority.

He is married and resides in Toms River.

David Gruskos

Appointed 2014

Mr. Gruskos is the owner and president of Reliable Automotive Equipment, the industry's premier supplier of repair equipment for luxury automobiles. As a resident of Oceanport, he has been involved in many community activities as a volunteer and had served on the Oceanport Planning and Zoning Board for ten years from 1994 to 2004.

Until his appointment to the Racing Commission he was an active thoroughbred racehorse owner and has extensive knowledge of horse racing matters in this State. He has assisted Monmouth Park Racetrack in fund-raising activities and was a member of Oceanport's Monmouth Park Advisory Board.

Francis X. Keegan, Jr.

Appointed 2006

Mr. Keegan, a lifelong horseman, was appointed to the Commission in 2006. He is a past President of the New Jersey Thoroughbred Breeders' Association, a past President of the New Jersey Thoroughbred Horsemen's Association and was a member of many horsemen organizations, including the Thoroughbred Club of America, the Green Mountain Horse Association, the National Hunt Association, and a patron of the Monmouth County Hunt. Mr. Keegan has bred, owned and raced horses in New Jersey since 1963, and has also been a successful consignor at numerous thoroughbred auction sales including Saratoga and Keeneland. Mr. Keegan is a graduate of Seton Hall University and attended Fordham Law School and served as an infantry officer after college in the United States Army. Mr. Keegan is a Wealth Management Advisor and First Vice President of Investments with UBS Financial Services, Inc. and in March 2006 celebrated 40 years with the firm. Over the years he has served on numerous bank boards, including Carteret S & L Bank of Commerce in Newark and Monmouth Community Bank.

Peter T Roselle

Commissioner since July 30, 2013

Mr. Roselle is currently the owner and CEO of Meadowbrook Industries, LLC, Waste Industries, LLC, Regional Industries, LLC, and Premier Waste Services Inc. He has 20 years experience in the solid waste and recycling collection and transportation industry.

Peter Roselle received a B.S. in Business Management and Finance from Monmouth University. He joined the Board of Trustees of Riverview Medical Center in March 2011. He is an active volunteer on committees at Monmouth University, Jersey Shore University Medical Center, Meridian Health System and NJDEP Clean Communities Council.

He resides in Tinton Falls with his wife and daughter.

Frank Zanzuccki

Executive Director since 1992

Mr. Zanzuccki received a B.S. in Accounting from St. Francis College, Loretto, Pa. He was the Chief Accountant for United Mine Workers of America from 1975-1978. He started his career with the New Jersey Racing Commission in 1978 and served in various positions and was appointed Executive Director in 1992. Mr. Zanzuccki was awarded the prestigious Len Foote Award in 1998 in recognition of outstanding contributions to the horse racing industry. He is also the first non-commissioner to be elected to the Association of Racing Commissioners International Board of Directors. In addition to this honor, Mr. Zanzuccki was subsequently elected as an officer of this international organization and served as its chairman from April 2004 through April 2005.

MISSION STATEMENT

The New Jersey Racing Commission ("NJRC") governs, directs and regulates horse racing and parimutuel wagering. The NJRC is a member of the Department of Law and Public Safety and is responsible for regulating the horse racing industry in the State through vigilant oversight of all racing and wagering related activities to ensure the integrity of the sport and the safety of its participants.

Commission Structure

Horse racing in New Jersey is regulated by Commissioners who, by law, are appointed by the Governor, with the advice and consent of the Senate. They set policy and rule on all matters affecting racing such as issuing permits to conduct horse racing meets, approving expenditures and adjudicating licensing matters. They also consider the issuance of licenses for off-track wagering sites, are responsible for the oversight and regulation of account wagering which includes telephone and internet wagering in New Jersey. This year, the following individuals served as Commissioners at year's end: Anthony T. Abbatiello, Manny Aponte, Dr. Michael Arnone, Pamela Clyne, Peter J. Cofrancesco III, Anthony De Paola, David Gruskos, Francis X. Keegan, Jr. and Peter T. Roselle.

The NJRC employs staff to implement its policy, including an Executive Director who is responsible for overseeing the day-to-day operations of the Commission in accordance with accepted business and financial practices. Frank Zanzuccki serves as the Executive Director.

The NJRC has a full-time staff of 34 employees who conduct the daily functions of regulating horse racing. The Commission also maintains a pool of 33 active hourly workers to supplement staff as needed.

Activities are divided into four functional areas with the FY2015 budget as follows:

Administrative/Financial		\$2,202,308
Racing Operations Licensing Veterinarians Chemical Testing	\$1,534,798 \$1,041,242 \$1,143,334	\$4,492,998
Officials	\$ 773,624	
Pari-Mutuels		\$ 300,603
Investigations		\$ 508,327
Total Operating Budget		\$7,504,236

This year's budget is 3.3% less than FY2014.

Administrative/Financial

Much of the general administrative functions are performed by the Department of Law & Public Support Services unit specifically organized to streamline the personnel, budget and logistics functions of several State agencies.

Commission personnel perform administrative functions specific to racing matters including rule and regulation composition, staffing and scheduling, communications with and oversight of industry-related organizations, adjudication support, and report writing. Commission staff maintains a horse racing financial system that records and calculates all receipts and payments of funds from parimutuel wagering. In addition, it monitors the finances of certain industry organizations as required or requested.

Racing Operations

All matters related to the regulation of the actual "running of the races" are the responsibility of the employees in this functional area.

Each individual and entity associated with horse racing must be licensed by the Commission. All participants must also be fingerprinted. A state-of- the-art computer system networks the Trenton office with all satellite racetrack locations. The Commission has a very successful mail-out program and participates in the Association of Racing Commissioners International multi-jurisdictional licensing program for owners, and is a member of the National Racing Compact.

The Commission employs racing officials who are present at each racetrack to monitor the running of every race in New Jersey. They issue penalties for rule infractions and rule on matters affecting the integrity of racing, including licensing concerns.

Veterinarians are also present at every live race meet to ensure the safety of the animals and to verify that each horse is fit to race.

Race horse samples are tested for the presence of illegal drugs after each race, and on occasion, before a race and in out-of-competition settings. These randomly selected samples undergo a complete chemical analysis at Truesdail Laboratories in California.

Pari-Mutuels

Every wager made on every live and simulcast race is recorded and checked for accuracy and compliance with Commission rules and regulations. Commission staff calculate financial information from these wagers for proper distribution of funds. Racing Commission staff oversee all aspects of pari-mutuel operations to ensure they are conducted with integrity.

Investigations

The investigative staff is responsible for monitoring activities at all New Jersey racetracks, off-track wagering facilities, participating casinos, and off-track stabling facilities.

An in-house investigative unit provides the Commission with the ability to oversee the integrity of racing by conducting investigations into alleged rule violations, performing inspections to determine compliance with regulations, monitoring activity on racetracks and off-track stabling facilities, providing testimony at administrative hearings and much more.

HIGHLIGHTS AND 2015 KEY ISSUES

NOTE: Items in *italics* actually occurred in 2016 but are included here for clarity purposes.

An application for a new Off-Track Wagering (OTW) Facility was approved by the Commission at its September 16, 2015 meeting and was subsequently approved by the Attorney General. The facility, located in a former restaurant in Hillsborough Township, Somerset County, opened October 23, 2015. This is the second OTW owned and operated in Monmouth Park's approved site location area and represents the sixth such facility in the State.

Existing legislation (N.J.S.A. 5:5-186) authorizes wagering on horse races through electronic wagering terminals located in a limited number of eligible taverns, restaurants, and similar venues. This law, known as the "Pilot Program," limits the placement of electronic wagering terminals in no more than 12 locations in the northern part of the State. Specifically, Bergen, Hudson, Essex, Passaic, Union, Morris, Somerset, Hunterdon, Warren, Sussex, northern Middlesex and northern Ocean counties. One application was received for the Pilot Program from the New Jersey Thoroughbred Horsemen's Association (NJTHA) that would open such a facility in Clifton, Passaic County. This application was reviewed by the Commission and a license to operate was approved at the May, 13, 2015 meeting. As of December 31, 2015, the applicant has not implemented the Pilot Program mainly since the vendor who was to supply the electronic wagering terminals withdrew from the program. The NJTHA has advised they are in negotiations with another vendor and hope to begin this program in 2016.

Exchange Wagering N.J.A.C. 13:74C

"Exchange" is a system operated by the exchange wagering licensee in which the exchange wagering licensee maintains one or more markets in which residents of New Jersey may back or lay a selected outcome on horse races conducted within and outside of New Jersey. "Exchange Wagering" is a form of parimutuel wagering in which two or more persons place identically opposing wagers in a given market. Exchange Wagering regulations became effective on April 20, 2015.

A license to operate exchange wagering was approved at the Commission's November 16, 2015 meeting. This license was granted to the New Jersey Sports & Exposition Authority. An exchange wagering management agent license was granted to Darby Development, LLC and the exchange

wagering services agent license was granted to Betfair US LLC, subject to the terms and conditions set forth in the Final Determination and Order. *On May 10, 2016 the "Exchange Wagering" system became operational in New Jersey, the first state to authorize such a system.*

At the Commission's November meeting, the following 2016 race dates were approved: Freehold Raceway 110, Monmouth Park 57, Monmouth Park at the Meadowlands (Thoroughbred) 14 and Meadowlands (Harness) 90.

Atlantic City Race Course permanently ceased all operations on January 16, 2015 at 4:00 p.m. By letter dated January 22, 2015, the Executive Director informed Atlantic City Racing Association (ACRA) that its closure rendered the Commission's November 19, 2014 determination to issue a thoroughbred racing permit for six race dates and a simulcasting license null, void and of no effect. ACRA continues to own and operate the Favorites at Vineland OTW.

The Commission continued its comprehensive drug testing program during the year. Truesdail Laboratory, LLC (Truesdail) is under contract to conduct such testing for the Commission. Truesdail is an accredited laboratory and utilized state-of-the-art equipment and methodologies to analyze specimens. Instrumental testing is one such methodology that is applied to all specimens and is capable of detecting a much wider array of drugs at significantly lower levels. In addition to the post-race testing program, the Commission was one of the first states to implement an out-of-competition testing program in 2007. The Commission collects specimens on non-race days from horses located on grounds under the jurisdiction of the Commission as well as from horses located in other states. This program is designed to detect the use of illegal drugs that can affect performance but cannot be detected on race day. In 2015, the Commission collected more than 128 specimens to be tested under this program.

Truesdail tested 27,735 post-race blood and urine specimens collected from horses with 33 testing positive for the presence of illegal drugs during the calendar year. The lab also tested 340 specimens taken from humans with 10 being positive for the presence of illegal substances.

Several court cases of note were processed this year:

ALVIN CALLAHAN V. NJRC, OAL DOCKET NO. RAC 05328-2014N, MARVIN CALLAHAN V. NJRC, OAL DOCKET NO. RAC 05333-2014N & JOHN HOLLINGSWORTH V. NJRC, OAL DOCKET NO. RAC 05336-2014N

On March 1, 2014, Alvin Callahan, a licensed trainer, Marvin Callahan, a licensed groom and John Hollingsworth, a licensed groom, were transporting race horses to the Meadowlands. An investigator for the Meadowlands was at a rest stop on the New Jersey Turnpike and witnessed a horse trailer being pulled off into a secluded area. The investigator observed both Callahan's enter the horse trailer while Hollongsworth, who stood by the tailgate, open the bottom door but left the top doors closed. The investigator witnessed Marvin Callahan throw a white bag into a trash can upon exiting the trailer. The white bag was found to contain syringes and hypodermic needles with blood residue on them, and those items along with specimens collected from the 2 horses were sent to the lab for

analysis. This analysis determined that the drugs ACTH, Vitamin K, Flucort and Winstrol were injected into the racehorses.

At the hearing conducted by the Board of Judges assigned to the Meadowlands, the parties stipulated they were on their way to the Meadowlands with racehorses "Twinscape" and "Dointimetogether" who were entered to race that day. In the horse trailer, Marvin Callahan injected both horses with foreign substances, including drugs referred to as "Vitamin K," "Glucor," and "Estron." Alvin Callahan permitted and assisted Marvin Callahan in doing so as did Hollingsworth who acted as a lookout.

The Board of Judges determined that Alvin Callahan and Marvin Callahan violated N.J.A.C. 13:71-7.29 (conduct detrimental to racing); N.J.A.C. 13:71-23.1 (intent of medication rules); N.J.A.C. 13:71-23.6 (trainer responsibility rules); N.J.A.C. 13:71-23.9 (possession of drugs or drug instruments); and N.J.A.C. 13:71-26.5 (conspiracies). The Judges suspended the Callahans for 5 years and fined each \$5,000. With the exception of N.J.A.C. 13:71-23.9 (possession of drugs or drug instruments), the Judges determined that John Hollingsworth violated the same regulations and suspended him for 1 year and fined him \$1,000.

The parties appealed the determination of the Board of Judges and the matter was transmitted to the Office of Administrative Law (OAL) as a contested case. The Administrative Law Judge (ALJ) determined that the sole issue before the court was the appropriateness of the penalties imposed by the Judges as there were no facts in dispute. The ALJ concluded that the Commission sustained its burden of proof as to all the charges against all of the licensees and further concluded that the suspensions and fines imposed upon Marvin and Alvin Callahan were warranted. As to Hollingsworth, "given his level of involvement and lack of any prior violations." the ALJ upheld the 1-year suspension but reduced the fine from \$1,000 to \$250.

At its meeting on May 13, 2015, the Commission adopted the initial decision of the ALJ as the agency's final administrative decision.

RONALD ABRAMS V. NJRC, OAL DOCKET NO. RAC 13694-2014S

On July 22, 2014, licensed owner/trainer Ronald B. Abrams was found in possession of a loaded hypodermic syringe on the grounds of Monmouth Park Racetrack containing the drug "Banamine."

The Board of Stewards at Monmouth Park Racetrack conducted a hearing and issued a three-month suspension and \$1,000 fine on the license of Ronald Abrams for violation of NJAC 13:70-1.15 (Acts detrimental to racing) and 13:70-14A.8 (Possession of drugs or drug instruments), in connection with possession of a loaded hypodermic syringe. Abrams appealed the determination of the Board of Stewards and the matter was transmitted to the Office of Administrative Law as a contested case. Prior to the hearing, the parties entered into a Settlement Agreement that imposed a 75 day suspension and \$1,000 fine against Abrams. At it's September 15, 2015 meeting, the Commission approved the Settlement Agreement as the agency's final administrative decision.

ADRIAN WISHER V. NJRC, OAL DOCKET NO. RAC 15445-13

Licensed standardbred trainer Adrian Wisher was the program trainer of the mare "Love You Always," which won the 7th race at the Meadowlands Racetrack on Friday, May 17, 2013. A post-race urine sample tested positive for "Methylhexanamine," a drug banned by the U.S. Food and Drug Administration. Wisher requested that a split sample be analyzed and Industrial Laboratories confirmed the presence of the drug. After a hearing before the Board of Judges at the Meadowlands, the Judges suspended Wisher for one year, fined him \$1,000 and ordered loss of purse. Wisher appealed the determination of the Judges and the matter was transmitted to the Office of Administrative Law as a contested case. The Administrative Law Judge ("ALJ") affirmed the action of the Board of Judges finding that the penalties imposed were "reasonable and appropriate." The Commission, at its July 15, 2015 meeting, voted to accept the ALJ's initial decision as the agency's final administrative decision.

NEW JERSEY EQUINE TESTING PROGRAM

The Equine Drug Testing Program is administered by the Commission's staff and samples are tested at Truesdail Laboratories in California. The following is a summary of the results of those tests:

2015 Human Program – figures ending December 31, 2015

Samples taken: 340

Positives: 10

2015 Equine Program – figures ending December 31, 2015

Samples taken: 27,735

Positives: 33

Positives by type:

Atropine	1
Clenbuterol	1
Dexamethasone	2
Dextrorphan	1
Dimethyl Sulfoxide	7
Flunixin	2
Furosemide	2
Hydroxy Xylazine	2
Isoxsuprine	1
Methylprednisolone	5
o-Desmethylpyrilamine	2
Omeprazole Sulfide	1
Phenylbutazone	4
Scopolamine	1
Stanozolol	1

NEW JERSEY HORSE RACING INJURY COMPENSATION BOARD

Note: Item in italics occurred in 2016 and is included here for accuracy.

Pursuant to N.J.S.A. 34:15-129, the New Jersey Horse Racing Injury Compensation Board was created. This Board provides group workers' compensation insurance for the horse racing industry. The Board consists of representatives of the public and private sector including members of horse race organizations, Risk Management, State Banking and Insurance Department, the Attorney General and the Commission. The program covers employees of the Board, namely drivers, jockeys, exercise riders and thoroughbred trainers' employees, with 2015 premiums established at \$1.7 million but increased to \$2.2 million as a result of a payroll audit conducted in 2016. In 2015, the Board continued in the Assigned Risk Program with New Jersey Manufacturers Insurance Co. being the provider.

NEW JERSEY RACETRACKS

Atlantic City Race Course (CEASED OPERATIONS IN JANUARY)

4501 Black Horse Pike Mays Landing, New Jersey 08830 609-641-2190

Atlantic City Race Course is owned and operated by Greenwood ACRA, Inc.

Freehold Raceway

130 Park Avenue Freehold, New Jersey 07728 732-462-3800

www.freeholdraceway.com

Freehold Raceway is owned and operated by Pennwood Racing Inc. Pennwood Racing, Inc. is a company, 50% owned by Greenwood Limited Jersey, Inc. and 50% owned by Penn National GSFR, Inc.

Meadowlands Racetrack

50 State Route 120 East Rutherford, New Jersey 07073 201-935-8500 www.thebigm.com

Meadowlands is operated by NMRLLC

Monmouth Park Racetrack

175 Oceanport Avenue Oceanport, New Jersey 07757 732-222-5100

www.monmouthpark.com

Monmouth Park Racetrack's racing permit is held by the New Jersey Thoroughbred Horsemen's Association and the track is operated by Darby Development

NEW JERSEY OFF-TRACK WAGERING FACILITIES

Favorites at Toms River

1071 Highway 37 West Toms River, New Jersey 08755 732-240-1210

Favorites at Toms River is a property owned by Freehold Raceway doing business as Freehold Raceway Off-track, LLC.

Favorites at Vineland

1332 South Delsea Drive Vineland, New Jersey 08361 856-696-5290

Favorites at Vineland is a property owned by Greenwood Racing doing business as ACRA Turf Club, LLC.

Favorites at Woodbridge

3 Lafayette Road Fords, New Jersey 07095

Favorites at Woodbridge is a property owned by the New Jersey Sports and Exposition Authority and leased to the NJTHA.

Winners Bayonne

400 Route 440 North Bayonne, New Jersey 07002

Bayonne OTW is a property owned by the New Jersey Sports and Exposition Authority and leased to NMRLLC.

Favorites at Gloucester

1300 Blackwood-Clementon Road Clementon, New Jersey 08021

Gloucester OTW is a property in the Freehold Raceway site area

Page 14 of 17

Favorites at Hillsborough

150 Rte. 206 Hillsborough, New Jersey 08844

Hillsborough OTW is a property of NJTHA in the Monmouth Park Racetrack site area

NEW JERSEY ACCOUNT WAGERING

New Jersey Account Wagering Meadowlands Racetrack 50 State Route 120 East Rutherford, New Jersey 07073 800-498-9557 and/or 201-460-4141

www.4njbets.com

New Jersey Account wagering is operated pursuant to law by the New Jersey Sports and Exposition Authority but per agreement is now managed by TVG.

NEW JERSEY CASINOS APPROVED FOR CASINO SIMULCASTING

Borgata Hotel Casino and Spa

One Borgata Way Atlantic City, New Jersey 08401 1-866-MY BORGATA (692-6742) www.theborgata.com

THOROUGHBRED ORGANIZATIONS

Thoroughbred Horsemen's Association of New Jersey is a not-for-profit corporation which advocates thoroughbred racing in the State. It provides general administrative services to its members including a group health benefits program.

Thoroughbred Breeders' Association of New Jersey is an organization devoted to promoting and enhancing the breeding of New Jersey thoroughbreds. The Racing Commission administers the Breeders Award Program that provides monetary incentives to owners and breeders by offering purse enhancements for races for New Jersey breds.

STANDARDBRED ORGANIZATIONS

Standardbred Breeders and Owners Association of New Jersey is a not-for-profit organization dedicated to advancing the cause of standardbred racing in the State. It provides general administrative services to its members including a group health benefits program.

Page 15 of 17

New Jersey Sires Stakes, an agency within the State Department of Agriculture, promotes the owning and breeding of New Jersey standardbreds. Nearly \$8 million in purse money is devoted to Sires Stake races restricted to horses sired by stallions resident in New Jersey. The program is funded by distributions from pari-mutuel handle at harness tracks and from nominating and sustaining payments by horse owners.

NEW JERSEY 2015 THOROUGHBRED RACING DATES

Monmouth Park (Post-time 12:50 p.m.)

Live Racing:

May 9 through September 27**
Saturday and Sunday during May
Monday, May 25 (Racing live)
Friday, Saturday, Sunday from June 5 through September 6
Monday, September 7 (Racing live)
Saturday and Sunday from September 12 through September 27

58 Dates

Meadowlands Racetrack

Live Racing: (Turf)

October 1 through October 31***
Thursdays, October 1 and 8
Friday and Saturday
Monday, October 12 (Racing live)

13 Dates

Total Thoroughbred Dates: 71 Dates

Total Programs: 264 Dates

(Thoroughbred and Harness)

^{**}On Mar. 18, 2015, NJRC approved Meadowlands to race 13 thoroughbred dates and approved a revision to Monmouth Park to conduct 58 race dates.

^{***}On <u>July 15, 2015</u>, <u>NJRC</u> approved NJTHA to rescind Sept. 24, 25 of the Meadowlands' thoroughbred dates and reschedule on October 1 and October 8, 2015

NEW JERSEY 2015 HARNESS RACING DATES

Freehold Raceway (12:30 p.m.)

Live Racing:

January 2 through May 23***

September 4 through December 12

Monday, Thursday, Friday, Saturday in January and February

Dark: Monday, February 23

Thursday, Friday, Saturday March 5 to May 16

Thursday, Friday and Saturday from September 4 through December 12

Monday, September 7 (Racing live)

Dark: Thursday, November 26 109 Dates

New Meadowlands Racetrack (Thurs. -Sat. 7:15 p.m.; Aug. 8 - Noon)

Live Racing:

January 2 through August 8

November 13, 14, 20, 21,* 27, 28 and December 4, 5, 11, 12, 18, 19, 26

Thursday, Friday and Saturday from January 2 through February 28***
Friday and Saturday from March 6 through August 8

84 Dates

Total Harness Dates:

193 Dates

Total Programs:

264 Dates

(Thoroughbred and Harness)

^{*}On Jan. 14, 2015, NJRC approved 4 additional NMR dates: Nov. 13,14, 20, 21

**On Mar. 18, 2015, NJRC approved Freehold to cancel Jan. 22,24, 26 due to weather and reschedule racing on Feb. 23, Mar. 2 and Mar. 9 (Mar. 2 was ultimately canceled due to weather)

***On May 13, 2015, NJRC approved Freehold to add May 22, 23, 2015 and approved the New Meadowlands to cancel February 21, 2015

NEW JERSEY LIVE AND SIMULCASTING MEETS COMMISSION DISTRIBUTION SUMMARY 2015

NJ-TRACKS	RACE DAYS	NJ-GROSS HANDLE	POSITIVE BREAKAGE	TRACK SETTLEMENT	PAYOUT	STATE SETTLE	TOTAL COMMISSION	TRACK SHARE	PURSE SHARE	CHARITY	SIRE STAKES (HARNESS)	BREED/DEVLP (HARNESS)	BREED/STALL (HARNESS)	BREED/DEVLP (T-BRED)		ACKSTRETCH ENEVOLENCE	
THOROUGHBRED]																
ACRA		\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0	\$0
MDLS	10	1,185,866	5,125	43,717	901,634	0	235,390	165,702	62,645	3,252	0	0	0	593	3,144	54	0
MP	58	35,372,545	207,107	1,848,954	26,442,478	0	6,874,006	4,898,788	1,838,826	29,529	0	0	0	17,686	86,230	2,947	0
SUB-TOTAL (T)	68	36,558,411	212,232	1,892,671	27,344,113		7,109,395	5,064,490	1,901,471	32,782	0	0	0	18,279	89,374	3,000	0
STANDARDBRED]																
ACHI	65	4,730,902	23,951	53,928	3,655,609	0	997,414	470,658	483,529	2,799	30,757	1,632	2,720	0	0	417	4,901
FRA	44	3,054,499	15,801	48,244	2,350,297	0	640,157	301,819	310,204	2,126	19,846	1,054	1,756	0	0	263	3,089
NMR	85	24,983,273	112,162	1,019,146	18,992,269	0	4,859,696	3,065,426	1,603,911	13,980	126,855	7,495	13,741	0	0	2,219	26,070
SUB-TOTAL (S)	194	32,768,674	151,913	1,121,317	24,998,176		6,497,267	3,837,903	2,397,644	18,905	177,458	10,181	18,217	0	0	2,899	34,061
TOTAL LIVE	262	\$69,327,085	\$364,146	\$3,013,988	\$52,342,289		\$13,606,663	\$8,902,392	\$4,299,115	\$51,686	\$177,458	\$10,181	\$18,217	\$18,279	\$89,374	\$5,899	\$34,061
OOS THOROUGHBRED SIGNAL]																
ACRA		\$263,138	\$974	\$15,081	\$192,084	\$0	\$54,998	\$43,696	\$9,828	\$0	\$0	\$0	\$0	\$79	\$1,368	\$26	\$0
MDLS		44,940,620	127,535	2,123,782	33,300,428	273	9,388,602	6,717,055	2,419,878	0	0	0	0	13,483	233,691	4,494	0
MP		62,648,618	220,225	2,436,382	47,373,741	0	12,618,270	9,080,715	3,186,722	0	0	0	0	18,795	325,773	6,265	0
SUB-TOTAL (T)	-	107,852,375	348,734	4,575,245	80,866,253	273	22,061,869	15,841,466	5,616,429	0	0	0	0	32,356	560,832	10,786	0
OOS STANDARDBRED SIGNAL]																
ACHI		12,002,658	48,561	424,245	9,014,170	0	2,515,682	1,866,016	591,238	0	36,429	3,601	3,094	0	0	1,200	14,103
FRA		22,019,796	85,570	533,639	16,800,682	0	4,599,905	3,511,853	980,865	0	66,831	6,606	5,675	0	0	2,201	25,874
NMR		97,707,879	370,245	3,543,337	73,287,702	0	20,506,595	14,534,670	5,524,004	0	266,330	29,313	27,701	0	0	9,771	114,807
SUB-TOTAL (S)	-	131,730,333	504,376	4,501,221	99,102,554	0	27,622,182	19,912,539	7,096,107	0	369,591	39,520	36,470	0	0	13,172	154,783
TOTAL SIGNAL		\$239,582,708	\$853,109	\$9,076,466	\$179,968,807	\$273	\$49,684,052	\$35,754,005	\$12,712,536	\$0	\$369,591	\$39,520	\$36,470	\$32,356	\$560,832	\$23,958	\$154,783
TOTAL - 2015	262	\$308,909,793	\$1,217,255	\$12,090,454	\$232,311,096	\$273	\$63,290,715	\$44,656,397	\$17,011,651	\$51,686	\$547,049	\$49,701	\$54,688	\$50,636	\$650,206	\$29,857	\$188,844

NEW JERSEY LIVE AND SIMULCASTING MEETS GROSS HANDLE SUMMARY

2015

NJ - TRACK	PERIOD	Actual DAYS	Live Race RUN	GROSS HANDLE	OUT-OF-STATE GENERATED	N J HANDLE	ON-TRACK L I V E	TO N J TRACKS	TO A C	TO <i>A C H I</i>	TO FRA	TO N M R	TO M D L S	TO <i>M P</i>
THOROUGHBRED														_
MDLS		10	60	\$11,522,747	\$10,336,881	\$1,185,866	\$950,110	\$235,756			\$77,967			\$157,789
M P		58	648	251,825,978	216,453,433	35,372,545	30,555,623	4,816,922		94,227	1,033,892	2,667,775	1,021,029	
SUB-TOTAL (T)		68	708	263,348,725	226,790,314	36,558,411	31,505,733	5,052,678	0	94,227	1,111,859	2,667,775	1,021,029	157,789
STANDARDBRED														
ACHI		65	703	\$27,227,878	\$22,496,976	\$4,730,902	\$3,286,575	\$1,444,327	\$17,767			\$1,054,965		\$371,595
FRA		44	484	14,942,913	11,888,414	3,054,499	2,293,815	760,684					567,386	193,299
N M R		85	1,073	205,265,270	180,281,997	24,983,273	19,531,794	5,451,480	13,672	1,230,052	843,062		2,367,867	996,827
SUB-TOTAL (S)		194	2,260	247,436,062	214,667,388	32,768,674	25,112,183	7,656,491	31,438	1,230,052	843,062	1,054,965	2,935,252	1,561,721
TOTAL LIVE		262	2,968	\$510,784,787	\$441,457,701	\$69,327,085	\$56,617,916	\$12,709,169	\$31,438	\$1,324,279	\$1,954,921	\$3,722,740	\$3,956,281	\$1,719,510
OUT-OF-STATE SIGNAL RECEIVED														
ACHI TOTAL				\$12,002,658		\$12,002,658								
ACRA TOTAL				263,138		263,138								
FRA TOTAL				22,019,796		22,019,796								
NMR TOTAL				97,707,879		97,707,879								
MDLS TOTAL				44,940,620		44,940,620								
MP TOTAL				62,648,618		62,648,618								
TOTAL SIGNAL REC'D			-	\$239,582,708	\$0	\$239,582,708								
TOTAL - 2015		262	2,968	\$750,367,495	\$441,457,701	\$308,909,793	\$56,617,916	\$12,709,169	\$31,438	\$1,324,279	\$1,954,921	\$3,722,740	\$3,956,281	\$1,719,510

NEW JERSEY RACING COMMISSION ACCOUNT WAGERING IN & OUT OF STATE 2015

	Internet	Phone	Mobile	Vineland	Woodbridge	Tom's River	Bayonne	Gloucester	Hillsborough	Total
MDLS for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen	\$215,180	\$9,295	\$58,951	\$30,289	\$116,355	\$49,448	\$68,646	\$29,804	\$3,080	\$581,048
MP for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen	4,268,022	184,371	1,169,267	600,775	2,307,859	980,782	1,361,571	591,144	61,081	\$11,524,871
ACRA for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen	0	0	0	0	0	0	0	0	0	\$0
MDLS for Standardbred Overnight Purses and for programs to aid the Standardbred Horsemen	1,809,832	78,181	495,821	0	978,635	415,896	577,367	250,671	25,901	4,632,306
FRA for Standardbred Overnight Purses and for programs to aid the Standardbred Horsemen	604,200	26,100	165,526	0	326,710	138,844	192,750	83,685	8,647	1,546,462
Standardbred Breeders and Owners Association (SBOA) for Standardbred Health & Welfare	20,992	907	5,751	0	11,351	4,824	6,697	2,907	300	53,728
Thoroughbred Breeders and Stallions (TBA)	366,453	15,830	100,393	51,583	198,153	84,210	116,905	50,756	5,244	989,527
Thoroughbred Backstretch Benevolency	11,695	505	3,204	1,646	6,324	2,688	3,731	1,620	167	31,581
Thoroughbred Breeding and Development	11,695	505	3,204	1,646	6,324	2,688	3,731	1,620	167	31,581
Sire Stakes	157,437	6,801	43,131	0	85,131	36,179	50,225	21,806	2,253	402,963
Standardbred Breeders and Stallions	16,793	725	4,601	0	9,081	3,859	5,357	2,326	240	42,983
Standardbred Backstretch Benevolency	7,347	317	2,013	0	3,973	1,688	2,344	1,018	105	18,805
Standardbred Breeding and Development	7,347	317	2,013	0	3,973	1,688	2,344	1,018	105	18,805
Total New Jersey Racing Industry Special Fund	\$7,496,994	\$323,856	\$2,053,875	\$685,939	\$4,053,869	\$1,722,793	\$2,391,667	\$1,038,373	\$107,293	\$19,874,660
Purse Share:										
Thoroughbred	\$353,050	\$16,726	\$119,740	\$25,075	\$138,713	\$87,988	\$92,342	\$28,771	\$590	\$862,994
Standardbred	463,819	23,317	106,991	20,813	247,873	117,012	91,981	51,117	7,294	1,130,217
		-,-		.,.	,-	,	,,,,,	,	,	,,
Breeder & Development:										
Thoroughbred	1,177	56	399	84	462	293	308	96	2	2,877
Standardbred	1,482	75	342	66	793	374	294	163	23	3,613
Sire Stakes Programs	25,360	1,274	5,826	1,159	13,638	6,540	5,068	2,824	404	62,094
TBA	38,836	1,840	13,171	2,758	15,258	9,679	10,158	3,165	65	94,929
SBOA Health Benefits	4,447	224	1,026	200	2,378	1,123	882	490	70	10,840
Backstretch Benevolence	2,659	130	741	150	1,255	668	602	259	25	6,490
Breakage	541,291	40,335	194,895	43,472	128,285	118,627	136,594	55,197	7,574	1,266,270
Amount Returned to Patrons	107,633,665	5,146,297	30,422,986	8,941,312	53,381,336	23,487,404	31,104,580	13,365,112	1,424,266	274,906,956
State Settlement	160	43	218	16	291	91	24	34	0	876
Cost of Signal	6,020,754	293,537	1,722,750	461,988	2,522,182	1,152,478	1,539,932	678,781	70,201	14,462,602
Account Wagering Licensee	12,910,168	564,001	3,532,001	1,126,558	6,909,948	3,026,249	3,985,541	1,730,416	177,348	33,962,230
Total Pari-Mutuel Handle	\$135,493,861	\$6,411,711	\$38,174,961	\$11,309,590	\$67,416,281	\$29,731,319	\$39,359,972 (1)	\$16,954,798 (2)	\$1,795,155	\$346,647,647 (3)
							,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		346,647,647
	Footnontes:	(1) Gloucester beg	gan operations on Ju	ly 5, 2014						

- Footnontes: (1) Gloucester began operations on July 5, 2014
 - (2) Hillsborough began operations on October 22, 2015 (3) Revised on December 6, 2016

NEW JERSEY RACING COMMISSION ACCOUNT WAGERING IN STATE 2015

	Internet	Phone	Mobile	Vineland	Woodbridge	Tom's River	Bayonne	Gloucester	Hillsborough	Total
Purse Share: Thoroughbred Standardbred	\$353,050 463,819	\$16,726 23,317	\$119,740 106,991	\$25,075 20,813	\$138,713 247,873	\$87,988 117,012	\$92,342 91,981	\$28,771 51,117	\$590 7,294	\$862,994 \$1,130,217
Breeder & Development: Thoroughbred Standardbred	1,177 1,482	56 75	399 342	84 66	462 793	293 374	308 294	96 163	2 23	2,877 3,613
Sire Stakes Programs	25,360	1,274	5,826	1,159	13,638	6,540	5,068	2,824	404	62,094
ТВА	38,836	1,840	13,171	2,758	15,258	9,679	10,158	3,165	65	94,929
SBOA Health Benefits	4,447	224	1,026	200	2,378	1,123	882	490	70	10,840
Backstretch Benevolence	2,659	130	741	150	1,255	668	602	259	25	6,490
Breakage	57,429	5,010	23,003	5,434	23,496	15,940	14,150	4,875	588	149,925
Amount Returned to Patrons	10,683,036	524,497	2,982,591	597,435	5,001,846	2,656,795	2,395,641	1,032,182	101,000	25,975,023
State Settlement	0	0	0	0	0	0	0	0	0	0
Cost of Signal	0	0	0	0	0	0	0	0	0	0
Account Wagering Licensee	1,664,677	78,217	451,188	97,649	829,144	442,060	398,041	172,856	16,409	4,150,241
Total Pari-Mutuel Handle	\$13,295,973	\$651,366	\$3,705,018	\$750,823	\$6,274,857	\$3,338,472	\$3,009,466 (1	1) \$1,296,798 (2)	2) \$126,471	\$32,449,243 (3)

Footnontes:

- (1) Gloucester began operations on July 5, 2014 (2) Hillsborough began operations on October 22, 2015 (3) Revised on December 6, 2016

NEW JERSEY RACING COMMISSION ACCOUNT WAGERING OUT OF STATE 2015

	Internet	Phone	Mobile	Vineland	Woodbridge	Tom's River	Bayonne	Gloucester	Hillsborough	Total
MDLS for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen MP for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen ACRA for Thoroughbred Overnight Purses and for programs to aid the Thoroughbred Horsemen	\$215,180 4,268,022 0	\$9,295 184,371 0	\$58,951 1,169,267 0	\$30,289 600,775 0	\$116,355 2,307,859 0	\$49,448 980,782 0	\$68,646 1,361,571 0	\$29,804 591,144 0	\$3,080 61,081 0	\$581,048 \$11,524,871 0
MDLS for Standardbred Overnight Purses and for programs to aid the Standardbred Horsemen FRA for Standardbred Overnight Purses and for programs to aid the Standardbred Horsemen	1,809,832 604,200	78,181 26,100	495,821 165,526	0	978,635 326,710	415,896 138,844	577,367 192,750	250,671 83,685	25,901 8,647	4,632,306 1,546,462
Standardbred Breeders and Owners Association (SBOA) for Standardbred Health & Welfare	20,992	907	5,751	0	11,351	4,824	6,697	2,907	300	53,728
Thoroughbred Breeders and Stallions (TBA) Thoroughbred Backstretch Benevolency Thoroughbred Breeding and Development	366,453 11,695 11,695	15,830 505 505	100,393 3,204 3,204	51,583 1,646 1,646	198,153 6,324 6,324	84,210 2,688 2,688	116,905 3,731 3,731	50,756 1,620 1,620	5,244 167 167	989,527 31,581 31,581
Sire Stakes Standardbred Breeders and Stallions Standardbred Backstretch Benevolency Standardbred Breeding and Development Total New Jersey Racing Industry Special Fund	157,437 16,793 7,347 7,347 \$7,496,994	6,801 725 317 317 \$323,856	43,131 4,601 2,013 2,013 \$2,053,875	0 0 0 0 0	85,131 9,081 3,973 3,973 \$4,053,869	36,179 3,859 1,688 1,688 \$1,722,793	50,225 5,357 2,344 2,344 \$2,391,667	21,806 2,326 1,018 1,018 \$1,038,373	2,253 240 105 105 107,293	402,963 42,983 18,805 18,805 \$19,874,660
Breakage	\$483,862	\$35,325	\$171,892	\$38,038	\$104,789	\$102,688	\$122,444	\$50,322	\$6,986	\$1,116,345
Amount Returned to Patrons	96,950,628	4,621,800	27,440,395	8,343,877	48,379,489	20,830,609	28,708,938	12,332,930	1,323,266	248,931,933
State Settlement	160	43	218	16	291	91	24	34	0	876
Cost of Signal	6,020,754	293,537	1,722,750	461,988	2,522,182	1,152,478	1,539,932	678,781	70,201	14,462,602
Account Wagering Licensee	11,245,491	485,784	3,080,813	1,028,909	6,080,804	2,584,189	3,587,500	1,557,560	160,939	29,811,989
Total Pari-Mutuel Handle	\$122,197,888	\$5,760,345	\$34,469,943	\$10,558,767	\$61,141,424	\$26,392,847	\$36,350,506 (1)	\$15,658,000 (2)	\$1,668,685	\$314,198,405 (3)

Footnontes:

⁽¹⁾ Gloucester began operations on July 5, 2014 (2) Hillsborough began operations on October 22, 2015 (3) Revised on December 6, 2016

NEW JERSEY RACING COMMISSION SUMMARY OF PARI-MUTUEL ACTIVITY ATLANTIC CITY CASINO BORGATA 2015

New Jersey Signals Received

Freehold New Meadowlands Monmouth Park Meadowlands			\$197,254 1,166,235 1,183,406 55,459
Total N.J. Signals Received			\$2,602,354
Out of State Signals Received			
Arlington	\$221,323	Maywood	8,527
Aqueduct	2,284,473	Meadows	374,179
Balmoral	5,267	Monticello Raceway H	390,643
Belmont	3,343,708	Mountaineer	441,689
Cal-Expo	105,080	Northern Ca Fairs	48,223
Canterbury	72,013	Northfield	648,371
Charlestown	560,213	Oaklawn	429,907
Churchill Downs	1,404,011	Ocean Downs	30,075
Cross County PK4	928	Parx's	1,171,223
Del Mar	747,347	Penn National	684,738
Delaware Park	513,362	Pimlico	589,843
Delta Downs	399,332	Pocono Downs	237,931
Dover Downs	260,232	Pompano	177,283
Ellis Park	68,729	Portland Meadows	54,845
Emerald Downs	94,527	Presque Isle Downs	229,274
Evangeline	280,607	Remington Park	196,784
Fair Grounds	558,343	Riverdowns	68,657
Finger Lakes	511,929	Rosecroft	28,018
Golden Gate	363,910	Running Aces	30,305
Gulfstream	4,484,785	Sam Houston	155,217
Harrah's Philadelphia	271,770	Santa Anita	1,768,666
Harrington Raceway	90,529	Saratoga	1,838,172
Hawthorne	220,698	Scioto Downs	67,702
Hazel Park	7,848	Suffolk	4,768
Hialeah	55,278	Tampa Bay Downs	1,403,877
Hooseir Park	371,558	Thistledown	201,034
Indiana Downs	352,273	Timoium	13,429
Keeneland	1,009,921	Tioga Downs	15,093
Kentucky Downs	43,030	Tropical	93,318
Laurel	655,884	Turf Paradise	347,898
Little Brown Jug	2,823	Turfway	182,925
Lone Star Park	83,612	Yonkers	699,871
Los Alamitos	324,826	Zia Park	59,845
Louisiana Downs	140,578		
	-,	Total Out of State Signals Received	\$32,603,074
		Total Pari-Mutuel Signals Received	\$35,205,428

NEW JERSEY RACING COMMISSION PARI-MUTUEL TAKE OUT ATLANTIC CITY CASINO BORGATA 2015

	In State	Out of State	Total
Casino Simulcasting Fund	\$13,012	\$163,020	\$176,032
Casino - Placement of Signal	0	1,538,564	1,538,564
A.C.R.A. Contingency Fund - State	0	0	0
Casino Share	255,989	2,713,373	2,969,362
Special Trust - Standardbred Sire Stakes Track Purses Breeder & Stallion Awards	3,504 2,930 384	46,215 31,055 4,239	49,719 33,984 4,622
Special Trust - Thoroughbred Thoroughbred Breeders	6,194	81,510	87,704
Breeding & Development Standardbred Thoroughbred	409 372	4,891 4,891	5,300 5,262
Purse Allocation In State Out of State	114,433	0 880,309	114,433 880,309
Track Share Allocation In State Out of State	112,872 0	0 880,309	112,872 880,309
Casino Simulcasting Special Fund Total Commissions	<u>0</u> 510,098	286,612 6,634,986	286,612 7,145,084
Breakage Total Amount Distributed	14,633 524,731	150,775 6,785,761	165,408 7,310,492
Amount Returned to Patron Total Pari-Mutuel Handle	2,077,623 \$2,602,354	25,817,315 \$32,603,076	27,894,937 \$35,205,429

NEW JERSEY RACING COMMISSION 2015 LICENSE REVENUE RECEIVED STANDARDBRED, THOROUGHBRED, ACCOUNT WAGERING & OFF TRACK WAGERING COMBINED

			Free	hold	Meado	wlands	Trei	nton	Monr	mouth	To	otal
Cat	Classification	Fee	Qty	Total	Qty	Total	Qty	Total	Qty	Total	Qty	Total
	ses Issued in 2015											
1	Owner	\$50	339	\$16,950	608	\$30,400	743	\$37,150	550	\$27,500	2,240	\$112,000
2	Trainer	\$50	106	5,300	245	12,250	87	4,350	354	17,700	792	39,600
3	Assistant Trainer	\$30	0	0	1	30	1	30	69	2,070	71	2,130
4	Driver	\$50	38	1,900	59	2,950	5	250	0	0	102	5,100
5	Driver / Trainer	\$50	168	8,400	173	8,650	35	1,750	0	0	376	18,800
6	Jocky	\$50	0	0	14	700	1	50	137	6,850	152	7,600
7	Jockey Apprentice	\$30	0	0	1	30	0	0	13	390	14	420
8	Jockey Agent	\$50	0	0	0	0	1	50	25	1,250	26	1,300
9	Stable Employee	\$5	274	1,370	280	1,400	2	10	795	3,975	1,351	6,755
10	C.I.D.	\$10	214	2,140	586	5,860	10	100	523	5,230	1,333	13,330
11	C.I.D Vendors	\$10	87	870	116	1,160	144	1,440	311	3,110	658	6,580
12	Pari-Mutuel Employee	\$25	52	1,300	110	2,750	5	125	149	3,725	316	7,900
13	Veterinarian	\$50	31	1,550	4	200	1	50	13	650	49	2,450
14	Valet	\$20	0	0	0	0	0	0	19	380	19	380
15	Plater	\$20	1	20	0	0	0	0	23	460	24	480
16	Vendor	\$50	10	500	8	400	21	1,050	37	1,850	76	3,800
17	Stable Name	\$50	58	2,900	171	8,550	376	18,800	274	13,700	879	43,950
18	Multiple Ownership	\$50	67	3,350	271	13,550	42	2,100	34	1,700	414	20,700
19	Corporate Stable Name	\$50	20	1,000	65	3,250	67	3,350	27	1,350	179	8,950
20	Authorized Agent	\$50	0	0	0	0	7	350	34	1,700	41	2,050
21	Off-Track Stables	\$50	0	0	0	0	46	2,300	0	0	46	2,300
23	Veternarian - NJRC	\$0	8	0	8	0	0	0	2	0	18	0
25	C.I.D NJRC	\$0	12	0	15	0	1	0	1	0	29	0
26	Off-Track Proprietors	\$0	0	0	0	0	0	0	0	0	0	0
27	Official - NJRC	\$0	3	0	5	0	0	0	1	0	9	0
28	Partnership	\$0	5	0	0	0	19	0	12	0	36	0
31	Owner - 3 Year	\$150	66	9,900	128	19,200	444	66,600	154	23,100	792	118,800
All Licens	ses wo/dups Issued in 2015		1,559	\$57,450	2,868	\$111,330	2,058	\$139,905	3,557	\$116,690	10,042	\$425,375
DUP	Duplicate License Fees	\$5	0	\$0	0	\$0	0	\$0	0	\$0	0	\$0
Total Lice	enses w/dups Issued in 2015		-	\$57,450	- -	\$111,330	- -	\$139,905	- -	\$116,690	- -	\$425,375

NEW JERSEY RACING COMMISSION 2015 LICENSE REVENUE RECEIVED STANDARDBRED

			Freeh	nold	Meadov	vlands	Trent	ton	Monm	nouth	Tota	ıl l
Cat	Classification	Fee	Qty	Total	Qty	Total	Qty	Total	Qty	Total	Qty	Total
A !! ! :	ses Issued in 2015											
All Licens	Owner	\$50	337	\$16,850	547	\$27,350	367	\$18,350	1	\$50	1,252	\$62.600
	Trainer	\$50 \$50		<u> </u>	209	. ,		2,300	<u></u>	ანი 50	359	+ - ,
2	Assistant Trainer	\$30	103	5,150		10,450	46		0			17,950
3		\$30 \$50	0	1,900	0	2,950	0 5	0 250		0	0 102	5 100
4	Driver / Trains a		38		59				0	0		5,100
5	Driver / Trainer	\$50	168	8,400	173	8,650	35	1,750	0	0	376	18,800
6	Jocky	\$50	0	0	0	0	0	0	0	0	0	0
7	Jockey Apprentice	\$30	0	0	0	0	0	0	0	0	0	0
8	Jockey Agent	\$50	0	0	0	0	0	0	0	0	0	0
9	Stable Employee	\$5	273	1,365	279	1,395	2	10	0	0	554	2,770
10	C.I.D.	\$10	99	990	529	5,290	2	20	0	0	630	6,300
11	C.I.D Vendors	\$10	19	190	106	1,060	0	0	0	0	125	1,250
12	Pari-Mutuel Employee	\$25	30	750	85	2,125	0	0	0	0	115	2,875
13	Veterinarian	\$50	30	1,500	4	200	1	50	1	50	36	1,800
14	Valet	\$20	0	0	0	0	0	0	0	0	0	0
15	Plater	\$20	1	20	0	0	0	0	0	0	1	20
16	Vendor	\$50	7	350	7	350	6	300	0	0	20	1,000
17	Stable Name	\$50	49	2,450	155	7,750	132	6,600	0	0	336	16,800
18	Multiple Ownership	\$50	67	3,350	269	13,450	31	1,550	0	0	367	18,350
19	Corporate Stable Name	\$50	20	1,000	64	3,200	33	1,650	1	50	118	5,900
20	Authorized Agent	\$50	0	0	0	0	0	0	0	0	0	0
21	Off-Track Stables	\$50	0	0	0	0	35	1,750	0	0	35	1,750
23	Veternarian - NJRC	\$0	7	0	7	0	0	0	0	0	14	0
25	C.I.D NJRC	\$0	0	0	0	0	0	0	0	0	0	0
26	Off-Track Proprietors	\$0	0	0	0	0	0	0	0	0	0	0
27	Official - NJRC	\$0	3	0	4	0	0	0	0	0	7	0
28	Partnership	\$0	4	0	0	0	11	0	0	0	15	0
31	Owner - 3 Year	\$150	57	8,550	120	18,000	220	33,000	1	150	398	59,700
All Licens	ses wo/dups Issued in 2015		1,312	\$52,815	2,617	\$102,220	926	\$67,580	5	\$350	4,860	\$222,965
DUP	Duplicate License Fees	\$5		\$0		\$0		\$0		\$0	0	\$0
Total Lice	nses w/dups Issued in 2015		-	\$52,815	-	\$102,220	-	\$67,580	-	\$350	_	\$222,965

NEW JERSEY RACING COMMISSION 2015 LICENSE REVENUE RECEIVED THOROUGHBRED

			Freeh	old	Meadow	lands	Trent	ton	Monm	outh	Tota	ıl
Cat	Classification	Fee	Qty	Total	Qty	Total	Qty	Total	Qty	Total	Qty	Total
A II 1 i a a m a	ses Issued in 2015											
All Licens		\$50	2	\$100	61	¢2.050	276	¢10 000	E40	¢07.450	000	¢40,400
	Owner	*	2		61	\$3,050	376	\$18,800	549	\$27,450	988	\$49,400
2	Trainer	\$50	3	150	36	1,800	41	2,050	353	17,650	433	21,650
3	Assistant Trainer	\$30	0	0	1	30	11	30	69	2,070	71	2,130
4	Driver	\$50	0	0	0	0	0	0	0	0	0	0
5	Driver / Trainer	\$50	0	0	0	0	0	0	0	0	0	0
6	Jocky	\$50	0	0	14	700	1	50	137	6,850	152	7,600
7	Jockey Apprentice	\$30	0	0	1	30	0	0	13	390	14	420
8	Jockey Agent	\$50	0	0	0	0	1	50	25	1,250	26	1,300
9	Stable Employee	\$5	1	5	1	5	0	0	795	3,975	797	3,985
10	C.I.D.	\$10	49	490	2	20	0	0	515	5,150	566	5,660
11	C.I.D Vendors	\$10	49	490	1	10	0	0	310	3,100	360	3,600
12	Pari-Mutuel Employee	\$25	2	50	0	0	1	25	149	3,725	152	3,800
13	Veterinarian	\$50	1	50	0	0	0	0	12	600	13	650
14	Valet	\$20	0	0	0	0	0	0	19	380	19	380
15	Plater	\$20	0	0	0	0	0	0	23	460	23	460
16	Vendor	\$50	3	150	0	0	8	400	37	1,850	48	2,400
17	Stable Name	\$50	9	450	16	800	244	12,200	274	13,700	543	27,150
18	Multiple Ownership	\$50	0	0	2	100	11	550	34	1,700	47	2,350
19	Corporate Stable Name	\$50	0	0	1	50	34	1,700	26	1,300	61	3,050
20	Authorized Agent	\$50	0	0	0	0	7	350	34	1,700	41	2,050
21	Off-Track Stables	\$50	0	0	0	0	11	550	0	0	11	550
23	Veternarian - NJRC	\$0	1	0	1	0	0	0	2	0	4	0
25	C.I.D NJRC	\$0	12	0	15	0	0	0	1	0	28	0
26	Off-Track Proprietors	\$0	0	0	0	0	0	0	0	0	0	0
27	Official - NJRC	\$0	0	0	1	0	0	0	1	0	2	0
28	Partnership	\$0	1	0	0	0	8	0	12	0	21	0
31	Owner - 3 Year	\$150	9	1,350	8	1,200	224	33,600	153	22,950	394	59,100
All Licens	ses wo/dups Issued in 2015		142	\$3,285	161	\$7,795	968	\$70,355	3,543	\$116,250	4,814	\$197,685
DUP	Duplicate License Fees	\$5		\$0		\$0		\$0		\$0	0	\$0
Total Lice	nses w/dups Issued in 2015		_	\$3,285	_	\$7,795	_	\$70,355	- -	\$116,250	_	\$197,685

NEW JERSEY RACING COMMISSION 2015 LICENSE REVENUE RECEIVED ACCOUNT WAGERING

			Freeh	old	Meadow	/lands	Tren	ton	Monm	nouth	Tota	al
Cat	Classification	Fee	Qty	Total	Qty	Total	Qty	Total	Qty	Total	Qty	Total
All Licens	es Issued in 2015	0.50		00	0		0	00		0.0	•	
1	Owner	\$50	0	\$0	0	\$0	0	\$0	0	\$0	0	\$0
2	Trainer	\$50	0	0	0	0	0	0	0	0	0	0
3	Assistant Trainer	\$50	0	0	0	0	0	0	0	0	0	0
4	Driver	\$50	0	0	0	0	0	0	0	0	0	0
5	Driver / Trainer	\$50	0	0	0	0	0	0	0	0	0	0
6	Jocky	\$50	0	0	0	0	0	0	0	0	0	0
7	Jockey Apprentice	\$30	0	0	0	0	0	0	0	0	0	0
8	Jockey Agent	\$50	0	0	0	0	0	0	0	0	0	0
9	Stable Employee	\$5	0	0	0	0	0	0	0	0	0	0
10	C.I.D.	\$10	66	660	55	550	8	80	8	80	137	1,370
11	C.I.D Vendors	\$10	19	190	9	90	144	1,440	1	10	173	1,730
12	Pari-Mutuel Employee	\$25	20	500	25	625	4	100	0	0	49	1,225
13	Veterinarian	\$50	0	0	0	0	0	0	0	0	0	0
14	Valet	\$20	0	0	0	0	0	0	0	0	0	0
15	Plater	\$20	0	0	0	0	0	0	0	0	0	0
16	Vendor	\$50	0	0	1	50	7	350	0	0	8	400
17	Stable Name	\$50	0	0	0	0	0	0	0	0	0	0
18	Multiple Ownership	\$50	0	0	0	0	0	0	0	0	0	0
19	Corporate Stable Name	\$50	0	0	0	0	0	0	0	0	0	0
20	Authorized Agent	\$50	0	0	0	0	0	0	0	0	0	0
21	Off-Track Stables	\$50	0	0	0	0	0	0	0	0	0	0
23	Veternarian - NJRC	\$0	0	0	0	0	0	0	0	0	0	0
25	C.I.D NJRC	\$0	0	0	0	0	1	0	0	0	1	0
26	Off-Track Proprietors	\$0	0	0	0	0	0	0	0	0	0	0
27	Official - NJRC	\$0	0	0	0	0	0	0	0	0	0	0
28	Partnership	\$0	0	0	0	0	0	0	0	0	0	0
31	Owner - 3 Year	\$150	0	0	0	0	0	0	0	0	0	0
All Licens	All Licenses wo/dups Issued in 2015		105	\$1,350	90	\$1,315	164	\$1,970	9	\$90	368	\$4,725
DUP	Duplicate License Fees	\$5		\$0		\$0		\$0		\$0	0	\$0
Total Licenses w/dups Issued in 2015			_	\$1,350	_	\$1,315	-	\$1,970	-	\$90	_	\$4,725

NEW JERSEY RACING COMMISSION EXPIRED TICKET REPORT 2015

		Out of State	Out of State Revenue								
	Date Ticket Purchased	Total	MDLS-T	NMR	FRA/ACHI	MP	ACRA	Vouchers		Racing Costs	TBA
ACRA	07/04/14 - 07/02/15	\$28,949	\$9	\$147	\$89	\$1,952	\$0	\$6,085	\$20,666	\$4,141	\$4,023
ACHI/FRA	07/04/14 - 07/02/15	180,372	206	7,737	20,104	4,995	0	16,351	130,978	30,536	2,601
NMR	06/28/14 - 07/02/15	733,083	4,419	102,955	6,463	13,731	0	55,447	550,068	91,508	9,400
MP	07/04/14 - 07/02/15	531,240	880	4,181	1,626	234,725	0	26,002	263,826	133,707	130,803
Total		\$1,473,643	\$5,514	\$115,020	\$28,282	\$255,403	\$0	\$103,885	\$965,538	\$259,892	\$146,827

NEW JERSEY RACING COMMISSION REVENUE TO THE STATE 2015

Racing Association/Source	Expired Outstanding Pari-Mutuel Tickets	Breakage & Expired Outstanding Pari-Mutuel Tickets	License Fees	Total State Revenue
Atlantic City Racing Association	\$4,141.39	\$0.00	\$0.00	\$4,141.39
Freehold Raceway	30,536.15		57,450.00	87,986.15
New Meadowlands Racetrack	91,507.62		111,330.00	202,837.62
Monmouth Park Jockey Club	133,707.21		116,690.00	250,397.21
Trenton			139,905.00	139,905.00
Computer/Phone/Mobile		726,511.08		726,511.08
Woodbridge		476,822.12		476,822.12
Vineland		85,410.29		85,410.29
Tom's River		256,691.12		256,691.12
Bayonne		308,393.22		308,393.22
Gloucester		132,008.98		132,008.98
Hillsborough		7,758.93		7,758.93
Total State Revenue	\$259,892.37	\$1,993,595.74	\$425,375.00	\$2,678,863.11